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Count the leaves to build the table of 4. Say the 4 tlmes table aloud.
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1 time 4 is _4

2 times 4 is 8
) 3t1mes4lsLLf
=_% |4 times 4 is K

¥ ¥ 2 5 times 4is
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ENRICHMENT ACTIVITY
Match the columns.

4 x 4 6
T x4 28
9x4 —

N 9 x 4 “ 8 x4 40
XA Tl ML g x g \.32

CHECKPOINT!
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ENRICHMENT ACTIVITY D ,O

A. Multiply and write the answer in the ) ‘
P67 Bx6=4y  6x6=3g  10x6=4g

C:ﬁ EOOK and CopU

B B. Fill in the boxes.
g 3 equals J_&J 9 equals 54
3 \ _
T @ l8‘equals :\-_gj 2 equals 13
. 7 equals z‘.\:__& I equals Yy
S equals ép) 6 equals 5_@
EXERCISE 7.1
A 3’&9"’
A. Write the product. Do in  keok an C’C'Pj(A ie gt 40
| . ' surs "
TX5=(38 4x5=0  3x5=/(5

\ 10x6 =60
"Sx6= 30 96 = 54
9x3=’57g: Ix6 = &
2

B. Write the product. Colour the boxes in which the answer is

8x6=48  6x6=1g
4x4=16  9x5=ag

less than 20.
5x6 =30]  4x5=[n 5x3=[ig] 2x4=3=r
10><4=I 4x3=@ 7><4=E 9 x 4 =[34]
2x5 =[B]  9x3=|3] 4 x 6 =[p4] 5 x5 =3

C. Join the leaves that have the same answer.
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